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Quiz 9 STAT 381, APPLIED STATISTICAL METHODS I, SPRING 2015
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In 2013 15% of UIC students had a tablet. It is 2015 and you heard someone say that
this has increased to 25%. We will conduct a random survey of 30 students and if 8 or
more own a tablet we will believe this claim.

a) (2 points) State the null hypothesis and the (simple) alternative hypothesis.
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b) (2 points) In this context, what would a Type I error be? e{
To conclude that the proporion has increas
When it hay '

¢) (2 points) In this context, what would a Type II error be?

To conclude Hae proporbta hos ot increased when i+ha.

d) (2 points) What is the significance level (o) of the test?
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=,0693

e) (2 points) Calculate 8 for this test.
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B=P(x<7 |p=25)= binomcdf (30, .25 7)
=.5143

Bonus (6 points) Suppose that you wanted to use a significance level of .01, and in
your random survey you found that 9 out of 30 own a tablet. State what test statistic
you want to use, calculate its p-value and state the conclusion of the hypothesis test.
Do not use the rejection rule from the beginning of the problem.
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Ty P25 =.02779% Dont reject.




